
Proposition :
On considère le plan muni d’un repère

(
O ; I ; J

)
et deux

vecteurs
−→
u (x ; y) et

−→
v (x′ ; y′). On a :

−→
u ·

−→
v = x×x′ + y×y′

Preuve :
On a :∥∥−→u ∥∥2 =

−→
u 2 = x×x+ y×y = x2 + y2∥∥−→v ∥∥2 =
−→
v 2 = x′×x′ + y′×y′ = x′2 + y′2

Notons
−→
w le vecteur défini par :

−→
w =

−→
u +

−→
v

On a
−→
w (x+x′ ; y+y′ ) et :∥∥−→w ∣∣2 =

∥∥−→u+
−→
v
∥∥2 =

(−→
u+

−→
v
)2

=
(
x+x′)×(

x+x′)+(
y+y′

)
×
(
y+y′

)
=
(
x+x′)2+(

y+y′
)2

= x2 + 2×x×x′ + x′2 + y2 + 2×y×y′ + y′2

Simplifions l’expression :∥∥−→u+
−→
v
∥∥2 − ∥∥−→u ∥∥2 − ∣∣−→v ∥∥2

=
(
x2+2·x·x′+x′2+y2+2·y·y′+y′2

)
−
(
x2+y2

)
−
(
x′2+y′2

)
= 2×x×x′ + 2×y×y′

De l’expression du produit scalaire :
−→
u ·

−→
v =

1

2

[∥∥−→u+
−→
v
∥∥2 − ∥∥−→u ∥∥2 − ∣∣−→v ∥∥2]

On en déduit :

=
1

2
·
(
2×x×x′ + 2×y×y′

)
= x×x′ + y×y′
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